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Cluster: 0015 ptr; resid: 0.37; r/c: 49/41

x.range

upstream meme PSSM #1; e=210

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=8.7e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16
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●14857
52655

1494
39681

21829
50356 10640

14926

15977

16430

21897

33254

36312

36606

37956

4283

43069

43370

43465

43557 43934

44122

44174

44266

44429
4459345070

45464

46819

47347

47802

47944

48064

48229
48552

48876

48917

4950

49617

49728

49971
50519

50556

50742

52368

54791

54872

55070

5605

string −500 −400 −300 −200 −100 −1
48876−0.00 36312−0.02 10640−0.09 47347−0.10 54872−0.12 50356−0.12 21897−0.13 48064−0.14 14926−0.17 37956−0.17 50519−0.18 48229−0.19 33254−0.19 14857−0.19 15977−0.32 44122−0.36 43465−0.38 50556−0.40 47802−0.42 36606−0.47 5605−0.47 49728−0.52 43557−0.53 44429−0.55 4283−0.59 43370−0.59 45070−0.62 44174−0.63 47944−0.68 21829−0.79 45464−0.81 44593−0.87 49971−0.91 55070−0.99 52368−1.03 4950−1.27 39681−1.35 48552−2.12 54791−2.15 43934−2.28 48917−2.30 43069−2.38 50742−2.74 44266−2.97 46819−2.98 49617−5.92 52655−6.42 16430−8.87 1494−9.92

log10(P) upstream meme1 2 log10(P.clust)=−1.40; 49 seqs; 49 uniq
c(0.5, 2.5)
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